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Given below are two statements :

3+

Statement I : [Co(NH3)6:| is a homoleptic

e
complex whereas [CO(NH3)4CIZ] is a

heteroleptic complex.

- 3+
Statement I : Complex [Co (Nl—l3 )6] has only

one kind of ligands but [CO(NH3) 4C12]+ has

more than one kind of ligands.

In the light of the above statements, choose the
correct answer from the options given below:

(1) Both Statement I and Statement II are false.
(2) Statement] is true but Statement II is false.

(3) Statement I is false but Statement 11 is true.
Both Statement I and Statement II are true.

The plot of osmotic pressure (11) vs concentration
(mol L) for a solution gives a straight line with
slope 25.73 L bar mol 1. The temperature at which
the osmotic pressure measurement is done is:

(Use R = 0.083 L bar mol~! K1)

(1) 310°C (2) 25.73°C
(3) 12.05°C @ 37°C

The products A z;md B obtained in the following
reactions, respectively, are -
3ROH + PCl;—>3RCI+A

ROH + PCls—>RCIl + HCI+B

(1) POCl; and H3PO4

[@ H,PO; and POCl3

(4) POCl;and H;PO3
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A.

101° Auxin is used by gardeners to prepare weed-free

Jawns. But no damage is caused to grass as auxin
(1) promotes abscission of mature leaves only.
'(2)! does not affect mature monocotyledonous

plants.
(3) can help in cell division in grasses,

produce growth.
(4) promotes apical dominance.

to

Lecithin, a small molecular weight organtc

compound found in living tissues, is an example

of:

Phospholipids
(2) Glycerides
(3) Carbohydrates
(4) Amino _acids

Match List I with List Il
List1

Two or more 1.

List I
Back cross

alternative

forms of a gene
Cross of Fy
progeny with
homozygous
recessive parent
Cross of Fy
progeny with ,
any of the parents
Number of

chromosome

1. Ploidy_

UL Allele

Test cross

sets in plant
Choose the correct answer from the options given

below:

(1) A-Il, B-L, C-IIL, D-IV

@ A-lL, B-1V, C-I, D-II

@3) AIV,BALCIALDI
) A, B, CHIL, D1V

B
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104 Identify the set of Comect sigiaments:

A.  The flowers of Faflisyerie are colovrful and
produce nectar.

B. The flowers ofiwaterlily are not pollinated
by water.

C. [n most of '{-,r!‘igr.pnllinated gpecies, the
pollen grains;égje protected from wetting.

D. Pollen Emim:b}f some hydrophytes are long
and ribbon like:

£ [n some hydrophytes, the polien grains are
carried passively inside water.

Choose the correst afswer from the options given
below: Chy

(1) A,B,Cand Donly

(2) A,C,DandEonly

B, C,Dand E-:qnly

() C.Dand E only

105 List of endangered species was released by-

(1) WWF iy, @) FOAM |
UCN (r1 (4) GEAC
N

106 What is the fate aféﬁ:ia:«e of DNA carrying only
gene of interest vdklm;h {s transferred into an alien

urganimn?

A, Thepieceof DNA wauld be able to multiply
itself independently in the progeny cells of
the organismi’y

B. Itmay get integrated into the genome of the
recipient. ;Ef.

¢. hmay muitiprl;*__' and be inherited along with
the host DNA. :

D. The alien piece of DNA is not an integral
part of chromosome.

E. - Ttshows abi]{i;y‘ to replicate.

Choose the cnrrem;éi;lawer from the options given

below: £
(1) DandE onlyHy
B and C only -/
(3) AandE nnlfl :i

1y
(4) Aand B only
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Which of the follo ;
reaction of photosyn thesls?
A, Light
B. Chlorophylt
c. COy
D. ATP =
E. MADPH o
the options
Choose the correet answer from the i rg""ﬁn
below: 3
(1) B, C and D only O
¢, D and E only (n
(3 pand E only L0
5&) A, B and C only
/' ; 0
ervation in which the "hmﬁn:d
= :Lpaa‘rg?:n put from their natural habity
4 placed in special setting where ey Fn be
m:mfmd and given special care is cﬂlladt]
Biodiversity conservation N
Semi-cuﬂsﬂrvﬂlj_‘-'n method L0y
(3 qustainable development
4y im-situ conservation
a0
Given below are two statements: o
Statement L2 Bt toxins are insect group specific
and coded by a gene e/ IAC. Fol

& Brillignt’

W DY CENTRE, PALA

Statement 11 : Bt toxin exists as indCtive
protoxin in B thuringiensis. Howevern Yafter
ingestion by the insect the inactive pmtcxjr_rgns
converted into active form due to acidic pH of
the msect gut
In the light of the above statements, choose the
correct answer from the options given below:
{} Both Ststement I and Statement 11 aré'false
Statement 1 is true but Statement 11 i§hlse
(3) Statement | is false but Statement 11 15
(4) Both Statement I and Statement 11 arg true
if)

A transcription unit in DNA is defined i

! maril
by the three regions in DNA and ﬂ\ﬁ:p:re wit:l‘:
respect to upstream and down stream end;
f1) Structural gene, Thmpusms, {]p&rat;t'r"gene
(2) Inducer, Repressor, Structural gene '!.5\

4)

Promater, Structural gene, Terminatd)
Repressor, Operator gene, Structural géne
)
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